
;L=g+= ljj/)f k|:tfljt ah]^ k|ltzt

1= cfly{s ljsf; 48,37,000. 7

s[lif, ko{^g , pBf]u ;xsf/L

2= ;fdflhs ljsf; 55,28,000. 8

lzIff , :jf:Yo , vfg]kfgL ,n]vs'b ;f+:s[lts k|j{wg / 

n}lu+s ;dfgtf tyf ;fdflhs ;dfj]lzs/)f

3= k"jf{wf/ ljsf; 2,69,49000. 39

;*s tyf k'n , l;rf+O{, ejg tyf ;xl/ ljsf;, phf{ , 

nw' tyf ;fgf hnljw't / ;+rf/

4= jg, jftfj/)f tyf ljkb Joj:yfkg 13,82,000. 2

jg tyf e' ;+/If)f , hnfwf/ , hnjfo' kl/jt{g, 

kmf]xf]/d}nf Joj:yfkg, hn pTkGg k|sf]k, ljkb Joj:yfkg 

, jf?)foGq ;+rfng

5= ;'zf;g tyf ;+:yfut ljsf; 13,82,000. 2

dfgj ljsf;, Ifdtf ljsf;, /fhZj kl/rfng, ljQLo 

Joj:yfkg, ljlQo hf]lvd Go"lgs/)f, ;fj{hlgs ;'g'jfO{, 

;fdflhs kl/If)f,cfGtl/s n]vfkl/If)f a]?h' km%f}{^, ;]jf 

k|jfx, gful/s ;Gt'li^, ;dGjo

6= 8 j^f j*fdf 2,41,85000. 35

7 cfly{s, ;fdflhs, k"jf{wf/ tyf cGo yk sfo{s|d 48,37,000. 7

8 nfut ;xeflutf -;dk"/ssf]if_ 1,00,00000.

9 dd{t ;+ef/ 25,00,000.

10 d]l;g]/L cf}hf/ vl/b 18,33,838.

11 kmlg{r/ lkmSr/ 15,00,000.

12 ufpkfnLsfsf] hUuf Joj:yfkg 1,00,00000.

13 sG ]̂h]lG; 39,55,577.

hDdf 9,88,89,415

;L=g+= ljj/)f /sd

1 ;+rfng vr{ 3,61,00000.

sf&]vf]nf ufpkfnLsf

cf=j= 2075/76 sf nflu k|:tfljt k"lhut ah]^

cf=j= 2075/76 sf nflu k|:tfljt rfn" ah]^




